suco -
0512-62895546 info@bethma.com
www.bethma.cn

0169 M.3

FRIRRE HFF RSB ERA42V hex 24

o EHMTE (RERMNE)
o /N EMIMBELIEL AT
o LLMERIA600bar?

EFATEE shiBLy T8RS TS
(BREHTHAR) o BF—| BiHl—
N . -
0169 HHEH HIEERENFF % AMPZ ¥ 6308
G1/4 0169 - 41903 - X - 011 0169 - 420 03 - X - 015
G1/8 0169 - 419 28 - X - 603 0169 - 420 28 - X - 604
M10x1 B4 0169 - 419 13 - X - 003 0169 - 420 13 - X - 004
50-150 (+ 5) bar -
M10x1 R 0169 - 419 01 - X - 009 0169 - 420 01 - X - 013
M12x1.5 B4t 0169 - 41902 - X - 010 0169 - 42002 - X - 014
NPT1/8 0169 - 419 04 - X - 012 0169 - 420 04 - X - 016
Gl/4 0169 - 493 03 - X - 011 0169 - 494 03 - X - 015
G1/8 0169 - 493 28 - X - 603 0169 - 494 28 - X - 604
M10x1 B4 0169 - 493 13 - X - 003 0169 - 494 13 - X - 004
100 - 200 (+ 5) bar —
M10x1 R 0169 - 493 01 - X - 009 0169 - 494 01 - X - 013
M12x1.5 B4 0169 - 493 02 - X - 010 0169 - 49402 - X - 014
NPT1/8 0169 - 493 04 - X - 012 0169 - 494 04 - X - 016
0169 THMMELUIRLLATHEERE HFF %
G1/4 0169 - 417 03 - X - 003 0169 - 418 03 - X - 007
G1/8 0169 - 417 28 - X - 601 0169 - 418 28 - X - 602 L 2
A
M10x1 B 0169 - 417 13 - X - 001 0169 - 418 13 - X - 002
50- 150 (+ 5) bar -
M10x1 R 0169 - 417 01 - X - 001 0169 - 418 01 - X - 005
M12x1.5 B4 0169 - 417 02 - X - 002 0169 - 418 02 - X - 006
NPT1/8 0169 - 417 04 - X - 004 0169 - 418 04 - X - 008 3
G1/4 0169 - 491 03 - X - 003 0169 - 492 03 - X - 007
G1/8 0169 - 491 28 - X - 601 0169 - 492 28 - X - 602 v
M10x1 B4 0169 - 491 13 - X - 001 0169 - 492 13 - X - 002
100 - 200 (+ 5) bar —
M10x1 $#EF 0169 - 491 01 - X - 001 0169 - 492 01 - X - 005
M12x1.5 B4 0169 - 491 02 - X - 002 0169 - 492 02 - X - 006
NPT1/8 0169 - 491 04 - X - 004 0169 - 492 04 - X - 008
BEPR- R A Rl
NBR RIE/HMGH, #Gh, =25, 85%. 1
EPDM FZEH, S5, 88, THRE. 2
FKM WE B (HFA, HFB, HFD), 5im%F. 3
HNBR HRIE /ARG, BEEE M 9
ES NN TG XKIREEE R ZE RS A RRAR. ¢
PE SR 0169 - XXX XX - X - XXX|
| o |
RoHSII ®
VESENE. SEESERER30%-50%. HESEENTFEPRRE/ SETH. compliant | [ C™US




